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THE OPEN UNIVERSITY OF SR LANKA

BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME
ASSIGNMENT TEST — OCTOBER 2010

MCU 1205 — MICRO ECONOMICS

DURATION : TWO (02) HOURS

b)

b)

|pate: 30" October 2010 Time : 10.00 am — 12.00 noon
Answer any three {03) Questions. All questions carry equal marks.
(1) a) State whether the following statements are true or false. Explain your answer,

{1 Demand Curve for a good is always negative.

1)) When the government imposes a maximum legal price for a good it creates a
surplus in the market.

{n When the government imposes a unit tax-on a good, the supply curve of that
good will shift to the right by the amount of the tax.

The demand and supply functions of good ‘X’ is given as follows.
Qy=72-4p =-48 + 8p

Price in rupees and quantity in 1000 units

(i) Find the equilibrium price & quantity. .

{ii) If the government imposes a price floor at Rs.12/= what will be the economic
consequences of this legal price?

(iif) i thisis an agriculturél product how will the good & bad weather conditions

affact the market?

State whether the following statements are true or false. Explain your answer.

{i) When the demand for a particular good is elastic, reducing the price of that
good will increase the totai revenue, the firm earns from that good.
{ii) Cross price elasticity for substitutes is negative {-) and for complementary

goods, it is positive (+).
(iif) The higher the number of substitutes available for a good the higher the price
elasticity of demand of that good.

Briefly explain, the nature of income Elasticity of Demand for a luxury, a necessity and
an inferfor good.
Consider following given price quantity relationship of good .

Price Quantity demanded of X {units)
24/= 100
30/= 92

Calculate the Price Elasticity of Demand of good X using both Point and Arc methods and
comment on the elasticity coefficient.

1




(3) a)

(i}

{iny .

(iif)

State whether the following statements are true or false. Explaln your answer.
Indifference curves can intersect each other. :

,&,,
e

s

Consumer maximizes the satisfaction at the point where the budget line is
tangent to the indifference curve,
The demand curve of a good can be derived from the Price Consumption Curve.

Using illustrations explain the relationship between Total Utility and Marginal Utility,

b}
c) Consider the following hypothetical Marginal Utility schedule.
Quantity 1 2 3 4 5 6
Mu, 92 84 ‘76 68 60 52
My, 114 108 102 9 90 84
If price of a unit of xand y is Rs. 4/= and 6/= respectively and the person’s income is
Rs.50/=, find the quantities of goods x and y that will maximize consumer satisfaction,
{(4) a) State whether the following statements are true or false. Explain your answer.
(i) Qutput elasticity of labour is equal to;
= Marginal Productivity of Labour MP,
Average Productivity of Labour AP,
(i) In the tong run production, at least one factor input is fixed.
(iii) The minimum cost factor combination is achieved when the producer
maximized the output level for his given budget.
b) What is meant by Optimum Expansion path?

Fill in the following table and identify three stages of production. Use illustrations.

Q 1 2 3 4 5 6
TP, 10 - - 60 - -
MP, - - 8 - 00 -
AP, . 15 - - - 09
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0. (a). Usioumd sbmdsst Ffureamsilr Heoeos LTaDWTeaienaur aa alemses.
1) Qm CQurmenssrar Bssiiell suenemwll sUBUTHEID sglianBWLITEIS.
(ii) arFIEsd @n UTEEnsE 2 Fruls almsvamu aldEeh Gurs Bsl
Fhempullsd hensamiu 2_gmeurd@alsimgl.
(i) orFmBED @ GUTHEHSEG RO S0G aflow s Curs
SihSL QUTHEDSSETaT Birbusd suenenul susug ubsd Gmrddl auftulls
SleTallenmsd b GUsib.

(b) Qurgst X Qsriiurer Gaosiell wHOHWD HFbusd FLSLTGSET QIGLTDI:
Qu=72-4p Q.=-48 + 8p

oflsmev grLrsllspd Gsrens 1000 swv@saiaub Sriu Bsismen.
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(i) epemsbd elme LLsms (price floor) mur. 12/~ @i eflglg s
Ebs eflemen UL Hallsii QUTmeTTETT aflenenaymelr wmsney?

(i) B& oo olasmul Gurgsmrs GBHSTEY HETENIDWLITET DHIID
ST STEEmeY HUEHenaEsT FHenbenll eelainml LTalseE.b.

2. (a) Jsireump sapipidsessit FwmamsnarT Sis0ag Uampusisnair sean eflamdgss.
M. GIUAC L QurEgEnsstar Gastal, GpabFAumLwais GméEbeUTE SibsL
Durmendare sllmed @mme SESL CuUTGIeinhars Gorss amoTahmes
SFEfEGD.
(i1) drgahdC GO Gurpepdsren GnéeE slams GnalpFdl sigiimenflnraand @yt
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(b) e bugluemiLb, SubgduraFwiuai b oD SWaiueiiLb aaTUSBIIBETET QLT
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(iii) 9K CuUIrgenssrar Essiel amauiurag o GUIGESSTET eina [BIETeY
auenanBsrlgsd (Price Consumption Curve) @mka GLBLILIL svitD.

(b). susHrLLEIBemET UWEILBEE GomgSIILLST B BIE0EMEILIIL IS eTheb aslamL_Ulsomsnr
QeTLindemen aflsnd@ms.
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Lpmeans 1 2 3 4 5 6
Mu, 92 84 76 68 60 52
Mu, 114 108 102 96 90 84
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(ii) HemTl-EeY 2 Musaulsd Gampbssl om 2 el auilmib Hemeowns
BnsEa1h.

(i)  srouL ursSlghera 2 Huss L Sme 2 FFUUGHa@Enurs BIfaF
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